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OAZOIHRIR| (8442
120,000~ 128 1,440
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00,0002 122 1,200
ORI 442
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201 Ler23 | 75,500 75,380 120
01 At2t2lt] 16,720 16,720 0
Oggt+==H| 16,720
OXNSARI2EAH = I M=
7,000,000 7,000
O H & A M=
3,000,000& 3,000
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= 969, 151
= 975,346




2A:

X XH -
o=

SR DI YEE ALY (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2

Al 382,290
s 369,790
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307 gl2to| & 5,920 5,920 0
[ 2,960
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S (AR C=) 47,936
o=3 45,237 0002 *36/40+1/ 12+ 124 » 122 29,583
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40,0003~ 1 ~12& 480
OZN=AHI 140,000& x 12+ 123 1,680
OAlI2tI 2 g
11, 1303 *25AI 2t 1+ 123 3,339
OS4H24g
45,237,000 *1/12+84%5k* 122 1,900
OYIt2 4|
45,237,000 +35/40% 1/ 12x84%~86%+1/30% 122! 954
204 MPoeHAH| 1,733 1,628 105
02 =2 2xH| 1,733 1,628 105
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165,000 35/40+ 1« 128 1,733
SEAtel2t2lA 2124H] XI& 206,352 181,099 25,253
= 67,752
Al 33,876
T 104,724
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s 67,752
Al 33,876
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206,352,000 206,352
s 67,752
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